
0.12 ÷ 0.01 = 5.4 ÷ 0.01 = 0.46 ÷ 0.01 =

0.03 ÷ 0.01 = 0.06 ÷ 0.01 = 6.05 ÷ 0.01 =

94.8 ÷ 0.01 = 37.31 ÷ 0.01 = 0.029 ÷ 0.01 =

0.1 ÷ 0.01 = 20.8 ÷ 0.01 = 5 ÷ 0.01 =

2.126 ÷ 0.01 = 0.41 ÷ 0.01 = 0.004 ÷ 0.01 =

0.161 ÷ 0.01 = 0.66 ÷ 0.01 = 0.03 ÷ 0.01 =

86.81 ÷ 0.01 = 69.4 ÷ 0.01 = 2.277 ÷ 0.01 =

63.36 ÷ 0.01 = 0.543 ÷ 0.01 = 0.002 ÷ 0.01 =

3.39 ÷ 0.01 = 0.02 ÷ 0.01 = 0.078 ÷ 0.01 =

3.2 ÷ 0.01 = 0.008 ÷ 0.01 = 36.8 ÷ 0.01 =

630.7 ÷ 0.01 = 6.42 ÷ 0.01 = 0.89 ÷ 0.01 =

0.088 ÷ 0.01 = 0.94 ÷ 0.01 = 235.9 ÷ 0.01 =

0.07 ÷ 0.01 = 0.4 ÷ 0.01 = 0.5 ÷ 0.01 =

904.3 ÷ 0.01 = 0.32 ÷ 0.01 = 0.844 ÷ 0.01 =

0.1 ÷ 0.01 = 461.1 ÷ 0.01 = 2.73 ÷ 0.01 =
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0.12 ÷ 0.01 = 12 5.4 ÷ 0.01 = 540 0.46 ÷ 0.01 = 46

0.03 ÷ 0.01 = 3 0.06 ÷ 0.01 = 6 6.05 ÷ 0.01 = 605

94.8 ÷ 0.01 = 9480 37.31 ÷ 0.01 = 3731 0.029 ÷ 0.01 = 2.9

0.1 ÷ 0.01 = 10 20.8 ÷ 0.01 = 2080 5 ÷ 0.01 = 500

2.126 ÷ 0.01 = 212.6 0.41 ÷ 0.01 = 41 0.004 ÷ 0.01 = 0.4

0.161 ÷ 0.01 = 16.1 0.66 ÷ 0.01 = 66 0.03 ÷ 0.01 = 3

86.81 ÷ 0.01 = 8681 69.4 ÷ 0.01 = 6940 2.277 ÷ 0.01 = 227.7

63.36 ÷ 0.01 = 6336 0.543 ÷ 0.01 = 54.3 0.002 ÷ 0.01 = 0.2

3.39 ÷ 0.01 = 339 0.02 ÷ 0.01 = 2 0.078 ÷ 0.01 = 7.8

3.2 ÷ 0.01 = 320 0.008 ÷ 0.01 = 0.8 36.8 ÷ 0.01 = 3680

630.7 ÷ 0.01 = 63070 6.42 ÷ 0.01 = 642 0.89 ÷ 0.01 = 89

0.088 ÷ 0.01 = 8.8 0.94 ÷ 0.01 = 94 235.9 ÷ 0.01 = 23590

0.07 ÷ 0.01 = 7 0.4 ÷ 0.01 = 40 0.5 ÷ 0.01 = 50

904.3 ÷ 0.01 = 90430 0.32 ÷ 0.01 = 32 0.844 ÷ 0.01 = 84.4

0.1 ÷ 0.01 = 10 461.1 ÷ 0.01 = 46110 2.73 ÷ 0.01 = 273
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